DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

Name:
TEsT Time: Score: y—
D —40890 + 10 = 0 2258.1 + (—3) =

2 —=30515+5 =

5 434.08 +8 =

4 —0.001406 = 0.002 =
5 —=H0.78 + 2 =

6 17900 + 2 =

N —=75l5+5 =

9 215.19 + (—0.9) =
) —1071.6 = (—6) =
10)5.295 +0.1 =

1 —98.6 +10 =

12) —26145 +5 =

13) —56223 +9 =

1) —223.36 + 8 =

5 —3446.1 + (—9) =

Mathematics: Division - Level 6 - Horizontal - Set 2
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399.76 + 0.04 =
2045.5 + (—5) =
4.0815 <+ 0.05 =

8.19 = (—0.5) =

—877.5+10 =
2165 +5 =
—37.134 +9 =

10.772 = 0.02 =
_534+5=
0498 =+ 3 =
—436.4 + 2 =
8788 = (—10) =
95.19 + 0.3 =

1.659 + 0.07 =
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